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1. What were the goals of CFS? What applications did they target?
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2. What is the overall architecture of their system? (i.e., what are the
three layers and what are their responsibilities?) Is there a clean
separation between layers?
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3. Figure 2: How is a CFS file system structured? How does a publisher
insert blocks into CFS? What happens if a publisher wants to update
- blocks? How and why is the root block treated differently?
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4. Figuring out the correct way to deal with delete operations can be
tricky in distributed systems. Why is having an explicit delete non-
trivial in distributed systems? How have other systems (e.g., Google
FS) dealt with the possible problem? In contrast, CFS chose to, in
effect, “lease" storage space; the publisher can repeatedly ask for
extensions. What are the advantages of this approach?
Disadvantages?
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5. CFS uses Chord to locate blocks on a specific node based on the
content-hash of the data to a key. The Chord lookup layer, overlay
network, was introduced in SIGCOMM'01 paper. At a high-level, how
does Chord know which node is responsible for a given key? What
attractive properties does Chord provide?
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6. In more detail: What is the role of the successor list? How does a
new node join a Chord ring? What is the point of the finger table?
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7. What is server selection and why is it needed?
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8. P2P systems need to worry about malicious nodes. Can a malicious
node alter data contents? What can a malicious node do? Why can't
you let nodes pick their id?
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9. Why does CFS use virtual nodes? What is the danger of allowing
virtual nodes?

L/f/ 75/9«/0 ”n @p&/ NI
Some servets bewe petler bW

poe SRS S e,

—F [ 3/3572 57 /€ Loy U 2.

nade Lan 7
U/{/% M(f)f& i/t

/Mw% o le  SHL ] /ﬁ/l?

ven Lonbp P

B]Zé]rl U [‘5 , vir- nole D [

L? Nu’(’ CD//W/?@&WS a
AL el 1P




10. CFS stores files in fixed-sized blocks. What are the pros and cons
of using fixed-sized blocks?
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11. Since nodes are free to leave the system at any time, a P2P system
must take special care to ensure availability. How does CFS do this?
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12. Cachingis used to improve performance in CFS. How is it is
performed? Do you think this will work well?
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13. Conclusions?
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